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H® NS Todst - 22 - FEY - A4, M2
15 #|7e| Toix|g ZE2l, P
(b2l : 7H4, wokel
o 1t A = of &b A
2 MY P
O | MTRE | MEAR oMY | Tl | B %
Al 8 23 71 453,171 | 422,775 30,397
7| = 2l 3 7 23 181,955| 170,045 11,910
X grd ekl 1 3 8 6,224 3,114 3,110
HEE e 1 2 4 38,948 32,868 6,080
of LhEFE A 1 4 8 216,880 | 209,465 7,415
YESEE A 1 5 25 7,989 6,388 1,601
MEaA T 1 2 3 1,175 895 281
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JIEZA

IO JlE - EFH(UNDIUT/AHT)

col: J|8 - ZFHI|s Lat (Etol: H)

SH-ZH -G (SAH) - AIRAY - BES Ol &4 JIEH Hlunsz
Ik 181,954,921 170,045, 111 11,909,810
=l 185,000 200,000 215,000
= 181,769,921 169,845, 111 11,924,810
SFO| I8 - I (LLBIUT/ L F) 5,670,934 4,300,934 1,370,000
ol - ZFIIs st 5,573,750 4,208,750 1,370,000
MOHE 2% EHOIX 75 20,000 0 20,000
207 AN 20,000 0 20,000
02 FAHLH] 20,000 0 20,000
ORIHE 2% EHOIX 2% 20,000 0 20,000
HESSEIL YYX AE3 60,000 0 60,000
303 Z&2 60,000 0 60,000
01 &3 60,000 0 60,000
OFRBSHI YYT AE3 60,000 0 60,000
HRSSEI Al 21aE 90,000 0 90,000
308 XHXISHHISOIF 90,000 0 90,000
01 XXSHBL2TS 90,000 0 90,000
ORSESEI} AR 2L X 90,000 0 90,000
HRSSEI RANR 1,200,000 0 1,200,000
403 XX SRS KHZO0IH 1,200,000 0 1,200,000
01 XIXISHHXZLE 1,200,000 0 1,200,000
OFSHUSHI LEAE WY X 1,200,000 0 1,200,000
DigHOIT) LBSS(DS/KOLEZSSDS) 165,966, 255 156,879,275 9,085,980
=4 185,000 200,000 215,000
< 165,781,255 156,679,275 9,101,980
QNS - DFHTIH 75 159, 124,899 152,634, 119 6,490,780
3 185,000 200,000 215,000
= 158,939,899 152,434, 119 6,505,780
DSIY DS s DFEF A 152,570,617 144,823, 159 7,747,458
703 DSHISESHTES 152,563,317 144,815,859 7,747,458
01 DSHISZIHNEES 152,563,317 144,815,850 7,747,458
OnSHISEINHES 148,171,458 140,424,000 7,747,458
OXYLEH (' 10 o) 130,665,048 123,000,000 7,665,048
OZAI('10 HoH) 17,506,410 17,424,000 82,410
NI 22 sS4 2,169,282 3,410,960 A1,241,678
403 XSS KHZ0IH 792,322 2,034,000 A1,241,678
02 2| ZHSOICHSICHE A 792,322 2,034,000 A1,241,678
©A2IXIY s2i8ra X 421,322 1,674,000 A1,252,678
0% - & WSNTA LHDLE X 1,000 0 11,000
NS OIX K 2K (2 D) 385,000 400,000 215,000
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DDAl
OlHoITH UZ2EH(WNFR/ROILESENS)

ctel: EY - USEHMA 7= (Etel: d &
2H -2 . A(3) - AFEAY - HAES Oi &t 24 JEA Hlusz

= 185,000 200,000 15,000

< 200,000 200,000 0

307 2120l 385,000 400,000 215,000

= 185,000 200,000 15,000

T 200,000 200,000 0

02 2ItFAEX 385,000 400,000 215,000

OXIHAAXRONE X 385,000 400,000 15,000

& 185,000 200,000 215,000

= 200,000 200,000 0

Agost sagd X3 255,356 298, 156 242,800

ASHEAS AL (RIEERY) 75,000 108,000 A33,000

307 QI2told 75,000 108,000 33,000

02 AAFAEX 75,000 108,000 33,000

OuStEAS AU STHAE X 75,000 108,000 33,000

242 X 180,356 190, 156 9,800

307 212+0IA 180,356 190, 156 £9,800

02 QIAFAER 180,356 190, 156 9,800

ozAZ &= N 180,356 190, 156 9,800

SNEXRYSXNA (S NEXNRLYSSES ) 6,586,000 3,947,000 2,639,000

SNEXRESAA(=1) 75,000 | 60,000 15,000

308 AtXICHHISOIA 75,000 60,000 15,000

02 F+=ul=s 75,000 60,000 15,000

(OFSEamME S 75,000 60,000 15,000

ollg1dl 6,511,000 3,887,000 2,624,000

801 oll8lbl 6,511,000 3,887,000 2,624,000

01 ofiglsl 6,511,000 3,887,000 2,624,000

©tilsl:] 6,511,000 3,887,000 2,624,000

2T HE5Y HFE(IELXAMNL/ALTAI) 1,228,600 728,600 500,000

Colo) 4oF g 1,228,600 728,600 500,000

CIXtel 23 Z2HE X 1,000,000 500,000 500,000

403 XXISHSKH20IN 1,000,000 500,000 500,000

01 MXISHHA2EE 1,000,000 500,000 500,000

OAlZ 1S4€3ME 32 500,000 0 500,000

Hests(E2)(RS/DENS) 8,585,248 7,632,418 952,830

LHRHeH KIS 6,641,068 6,790,000 148,932

EXAEE LHst XX & 141,068 290,000 148,932

702 JISHES 141,068 290,000 £ 148,932

01 JISEES 141,068 290,000 £ 148,932

- 156 -




BH: J|E2A

i HREsOE2)(1S/1SN])

S?: HRHSA X E

SH-Z2-2(3) - NEAY - BHAS Oif &+oH J| =8 Hlws2
] | FEPEEESIE 141,068 290,000 148,932
RSN 1,944,180 842,418 1,101,762
SQUILESSHSES a3 1,944,180, 842,418 1,101,762
802 BHEt20|E 1,944,180 842,418 1,101,762
= 1,944,180 842,418 1,101,762
©'10 |08 DAL XIR AL 1,101,762 0 1,101,762
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